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manE | mmsimEe/a| LR [ anmny] TEEe7 [RERRATE gy | ppan [samen] S2or/ 8] OF@
18R 726 20 55 22 823 m| 650 | 185 | 155 990m| 1813 M
TERET2HAE| 45 39 109 44 1644 m| 650 | 185 | 155 990m| 2634m
SEIRE| 9477 59 163 65 2464 m| 650 | 185 | 155 990m| 3454
18R 868 20 55 22 965 M| 650 | 185 | 155 990m| 1,955 M
EEZ| 2888 ) g5 39 109 44 1927 m| 650 | 185 | 155 990 m| 2,917
SERE| 2603 59 163 65 2890 M| 650 | 185 | 155 990m| 3880M
1BIRE) 007 20 55 22 1,104 m| 650 | 185 | 155 990m| 2094m
EES|2AHE| 503 39 109 44 2205 m| 650 | 185 | 155 990m| 3195 M
SEIRHE| 3019 59 163 65 3306 m| 650 | 185 | 155 990 m| 4,296
sl AL 20 55 22 1268 m| 650 | 185 | 155 990 m| 2258 m
N sl X 39 109 44 2534 m| 650 | 185 | 155 990 m| 3524m
SEIRHE| 3513 59 163 65 3800 m| 650 | 185 | 155 990 m| 4,790 M
'EIRE) 1,334 20 55 22 1,431 F| 650 | 185 | 155 990 1| 24211
THEES|2FRE | 5 667 39 109 44 2859 m| 650 | 185 | 155 990 m| 3849m
SERE| 4000 59 163 65 4287 m| 650 | 185 | 155 990 | 5277
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e = b 1 AT ESRENFR B A1 8 X INE % 4.7% x 10.83H) — (A% 0.9
THEBALARENHE 2% AT ESRBNFA B ST 3 x INE2E4.7% % 10.83[M) — (A X 0.8)
SE|——AS T FESREM SR B ST 2 X MNE 34.7% X 10.83H) — (A X 0.7)
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